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Answer any five questions

1.
a)
Factorise   5x²  - 20 .







[2]




b)   Solve   x ² + 4x –20 = 0 , giving your answers correct to 2 decimal places.  [4]   
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[3]

b) Solve the simultaneous equation:




3x + 2y =  7






[3]




  x  -   y = 
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3. 
Given that m = 5 x 10  ²   and that n = 4 x  10³  , calculate

a) mn









[1]

b) m³









[2]

c) 
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 +  n








[3]

4. In the diagram, (ABD = ( BDC = 90( , AB = 4.2 cm, BD = 5.8 cm and 

(BCD = 37.6( . Calculate

a) (BAD









[2]

b) CD









[2]

If X is the foot of the perpendicular from D to BC, find the length of CX.         [2]






5. a) A polygon has n sides. Two of its exterior angles are 70°  and 48°.

    The remaining (n - 2) exterior angles are each  11° . Find n.


[3]


b) TA, TB are tangents to the circle from an external point T. If CB is parallel to AT


     and  (BAT = 62( , calculate

i)  (ATB   








[1]

ii) (BCA









[2]






6. Answer the whole of this question on a sheet of graph paper.

The heights of 56 plants, grown under experimental conditions, are given in the following table.

Height in cm
x < 10
10 < x <20
20<x<30
30<x<40
40<x<50
50<x<60
60<x<70

No. of plants
1
2
4
6
13
22
8

a) Construct a cumulative frequency table.





[1]

b) Using a horizontal scale of 2 cm to represent a height of 10 cm and a vertical scale of 

      2 cm to represent 10 plants, draw a smooth cumulative frequency curve for these   

     results.









[3]


Showing your method clearly, use your graph to estimate

c) The  interquartile range







[1]

d) The number of plants with a height greater than 45 cm



[1]

7. The diagram shows the speed-time graph of an express train approaching a station.










Calculate


a)
the deceleration, in m/s , during the first 2 minutes



[1]


b)
the distance travelled, in km, when it is moving at constant speed

[1]


c)
the average speed over the 8-minute period, correct to 2 significant figures
[2]


d)
the deceleration, in km/h , during the last 3 minutes, correct to 1 decimal place













[2]

the end and all the best
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